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QUESTION 1

In a VPRN, which of the following are supported as PE-CE routing methods on the Alcatel-Lucent 7750 SR? (Choose
four).

A. Static

B. RIP

C. OSPF
D. IS-IS

E. MP-BGP
F. BGP

Correct Answer: ABCF

QUESTION 2

A VPLS spoke SDP is terminated on a VPRN service. The remote side of the spoke SDP is operationally "Down" with a
flag of "Service MTU Mismatch". Which command can you use on an Alcatel-Lucent 7750 SR to show the signaled
operational VC-MTU?

A. show service id base

B. show router |dp bindings

C. show service id sdp detail

D. show service id vc-mtu

Correct Answer: B

QUESTION 3

Based on the VPRN BGP decision process, which of the following routes is selected first?
A. The route with the shortest AS path.

B. The route with the lowest route or tunnel table cost to the NEXT_HOP.

C. The route with the highest local preference.

D. The route with the lowest originator ID or BGP identifier.

Correct Answer: C
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QUESTION 4

What is the purpose of the Route Distinguisher?
A. It defines the VPN membership

B. It defines which routes are imported into the vrf
C. It defines which routes are exported from the vrf
D. It is used to make IPv4 addresses unique

E. It is used as the VPN label

Correct Answer: D

QUESTION 5

Which of the following about Carrier Supporting Carrier (CSC) VPRN is FALSE?

A. CSC eliminates the need for customer carriers to build and maintain their own MPLS backbone.
B. CSC is also known as carrier\\'s carrier or carrier serving carrier.

C. The customer carrier provides VPN or Internet services to its end-customers.

D. A CSC VPRN is configured on the customer carrier\\'s CSC-CE routers.

Correct Answer: D
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